
  

APRIL 2021 60114/BTF2A/ 
 MBM4D/BTG2A/ 
 BTM2A 

Time : Three hours Maximum : 75 marks 

PART A — (10  2 = 20 marks) 

Answer any TEN questions. 

1. What are the feature of OR. 

 ö\¯À£õmk Bμõ´a]°ß C¯À¦PÒ ¯õøÁ? 

2. Define ‘Basic feasible solution’. 

 ‘Ai¨£øh \õzv¯©õÚ wºÄ’ ÂÁ›. 

3. What is Queue Discipline? 

 Á›ø\ JÊUP® GßÓõÀ GßÚ? 

4. Define ‘Several Servers’. 

 ‘£» ÷Áø»¯õmPÒ’ ÂÁ›. 

5. What is ‘Independent Float’? 

 ußÛaø\¯õÚ ªuøÁ GßÓõÀ GßÚ?  
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6. What is CPM? 

 CPM GßÓõÀ GßÚ? 

7. What is Pure Strategy in Games? 

 ÂøÍ¯õmiÀ ‘_zu©õÚ ²Uv’ GßÓõÀ GßÚ? 

8. What is Zero-Sum Games? 

 §ä¯®&ö©õzu® ÂøÍ¯õmk GßÓõÀ GßÚ?-- 

9. What is ‘Probability’? 

 {PÌuPÄ GßÓõÀ GßÚ? 

10. Define mutually exclusive event. 

 ‘£μì£μ {PÌÄPÒ’ ÂÁ›. 

11. What is ‘Network’? 

 ‘Áø»¤ßÚÀ’ GßÓõÀ GßÚ? 

12. What is maximisation transportation problem? 

 AvP£mh©õUPÒ ÷£õUSÁμzx ¤μa\øÚ GßÓõÀ 

GßÚ? 
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PART B — (5  5 = 25 marks) 

Answer any FIVE questions. 

13. What are the classification  of models? 

 ©õv›°ß ÁøPPÒ ¯õøÁ? 

14. What are the scientific methods of Operation 
Research? 

 ö\¯À£õmk Bμõ´a]°ß ÂgbõÚ •øÓPÒ 

¯õøÁ? 

15. Solve the Assignment Problem. 
 Men 

Tasks A B C D 
I 18 26 17 11
II 13 28 14 26
III 38 19 18 15
IV 19 26 24 10

 JxUSuÀ ¤μa\øÚ wºUP. 

 ©ÛuºPÒ 

£oPÒ A B C D 

I 18 26 17 11

II 13 28 14 26

III 38 19 18 15

IV 19 26 24 10
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16. From the following Network, determine direct 

path from Node 1 to Node 6. 

  

 RÌUPõq® Áø»¤ßÚ¼¸¢x •øÚ 1¼¸¢x  

•øÚ 6US ö\À¾® ÷|μi ÁÈø¯ PõsP.  

  

17. What are the characteristics of a Queueing 

System?  

 Á›ø\•øÓ°ß C¯À¦PÒ ¯õøÁ?  

[P.T.O.]
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18. What are the Laws of Conditional Probability? 
 {£¢uøÚ {PÌuPÂß ÂvPÒ ¯õøÁ? 

19. Solve the following game and determine the value 
of the game. 

  Y 

 X 







32
14

  

 ¤ßÁ¸® ÂøÍ¯õmøh wºUPÄ® ©ØÖ® 

ÂøÍ¯õmiß ©v¨ø£ wº©õÛUPÄ®. 

  Y 

 X 







32
14

. 

PART C — (3  10 = 30 marks)  
Answer any THREE questions. 

20. Out of 8000 graduates in a town; 800 are females 
and out of 1600 graduates employees 120 are 
female. Use 2  to determine if any destination is 
made in appointment on the basis of Sex. 

 Chi-square table value 3.84. 
 J¸ |PμzvÀ EÒÍ 8000 £mhuõ›PÎÀ 800 ÷£º 

ö£sPÒ. ©ØÖ® 1600 £mhuõ› FÈ¯ºPÎÀ 120 ÷£º 

ö£sPÒ. 
2 ø¯ £¯ß£kzv ÷Áø»°À A©ºzxÁx 

£õ¼Ú® Ai¨£øh°À ö\´¯££mhuõ GßÖ B´P. 

 2  AmhÁøn ©v¨¦ 3.84. 
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21. Two bags contain respectively 10 white, 6 red and 

9 black balls and 3 white, 7 red and 15 black balls. 

 One ball is drawn from each box. Find the 

probability that 

 (a) Both Balls are Red. 

 (b) Both Balls are of the same colour. 
 Cμsk ø£PÎÀ •øÓ÷¯,  

 10 öÁÒøÍ, 6 ]P¨¦ ©ØÖ® 9 P¸¨¦ £¢xPÒ. 

 3 öÁÒøÍ ©ØÖ® 7 ]P¨¦ ©ØÖ® 15 P¸¨¦ £¢xPÒ 

C¸¢uÚ. JÆöÁõ¸ ø£°¼¸¢x® J¸ £¢x 

GkUP¨£mhx. 

 RÌUPõq® {PÌuPÂøÚ PõsP. 

 (A) Cμsk £¢xPÐ® ]P¨£õP C¸UP. 

 (B) Cμsk £¢xPÐ® J÷μ {ÓzvÀ C¸UP. 

22. Solve the following Assignment Problem. 

 Machines 

  I II III IV

 A 8 2 6 5 

Mechanics B 10 9 2 8 

 C 5 4 9 6 

 D 3 6 2 8 
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 RÌPõq® JxURmk ]UPø» wºUP. 

  C¯¢vμ[PÒ 

  I II III IV

 A 8 2 6 5 

ö©UPõÛU B 10 9 2 8 

 C 5 4 9 6 

 D 3 6 2 8 

23. A super market has a single cashier. During the 
peak hours, customers arrive at a rate of  
20 customers per hour. The average number of 
customers that can be processed by the cashier is 
24 per hour. Calculate 

 (a) Probability that cashier is idle. 

 (b) Average number of customers queueing 
system. 

 J¸ ]Ó¨¦ A[Põi°À J¸ Põ\õÍº ©mk÷© C¸¢uõº. 

£μ¨£μ¨£õÚ ÷|μ[PÎÀ \μõ\›¯õP J¸ ©o 

÷|μzvØS 20 ÁõiUøP¯õÍºPÒ Á¸ÁõºPÒ. Põ\õÍº 

\μõ\›¯õP J¸ ©o ÷|μzvØS 24 

ÁõiUøP¯õÍºPøÍ \©õÎUQÓõº. Psk¤iUP. 

 (A) Põ\õÍº ÷Áø»°À»õ©À C¸US® ÷|μ® 

 (B) Á›ø\ •øÓ°À EÒÍ \μõ\› 

ÁõiUøP¯õÍºPÎß GsoUøP. 
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24. Find an optimum solution to the following 
Transportation Problem (VAM Method). 

 Warehouse  
Factory I II III IV Capacity

A 42 48 38 37 190 
B 40 49 52 51 150 
C 39 38 40 43 190 

Demand 80 90 110 160  

 RÌPõq® ÷£õUSÁμzx ¤μa\øÚUS EP¢u wºÄ 

Psk¤i. (÷ÁõPÀ ©õhÀ £¯ß£kzuÄ®) 

 S÷hõß  
öuõÈØ\õø» I II III IV öPõÒÍÄ

A 42 48 38 37 190 
B 40 49 52 51 150 
C 39 38 40 43 190 

÷uøÁ 80 90 110 160  
——————–––––—  


